EARAROBEEIERT — 2 N— IBISH —F

20185108280 (H) 4M%=9H

IRl =025 10007F ¥5%3@ LA UsE] &8

‘ [R1%] & ‘ [REBB] — | & (&) 14000 B

[~®4] 1 7% 15,000,000 @ 2 7 :6,000,000 @ ~ 3 7 :3,800,000 1

4 7% 12,300,000 57 1,500,000

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o LR sE 124, - . . SAE (Eim)
1 8 N1 I—F1 [B] 4 4 55_0w 1(2_4)2 10-9 36.3|101.4| 1 (4_628) E;’iﬁ%é
R:FHhY<T1A8 BNXA7—Zx> [EE e
= i 4 3 | J. ELAT 1:24.7 1-1 37.7| 9.8 | 2 504 | AFIEH ()
2|59 |77 53.0 @) (-4) |BRBRSHI LY
R:W—5—>y 7 B:H¥v—N =Y Ty—L
4t 5 | HlgRsL 1:24.8 7-5 37.2| 958 | 6 484 | RETER (EX)
3|11 E—%3B-7F 55.0 (3/8) (e | ) G1L=v>y
S:Distorted Humor £:¥—I XL ILY HET7—L
> S, o # 7 | MEEZ 1:25.0 12-12 [ 36.6| 94.0 | 16 486 | BUIAEH (ER)
47|13 T+ YVa—-va> 55.0 (1 1/4) (g) | EEBEE
LUFTAHALER Bih——Ey R FE%S
= i 4 5 | C. bx=Jb 1:25.1 3-3 37.7| 93.1| 3 500 | HOREFESL (i)
EE 6| T7LTa—"T7 55.0 (1/2) 4y | Ko S ¥vT
L:yvAa7x B:Z7z7L—-0b VA N
3 —: 4 5 | HUH(E 1:25.3 16-14 [ 36.1| 91.2 | 12 | 484 |EHZE# (ER)
612 >TIET R 55.0 (1 1/4) (-10) FHREE
L:T77NTTT BT IRFUE YT BR&t TH77-L4
KEFARIR : = BOEN (BEXR)
2 ol F =271 it 5 S 1(725t§, 15-14 | 36.2| 91.2 | 13 12(6);1 ﬁﬁaagé
T INATA—H— BTT4T7T4—> HRXEHE /-
. = 4 3 | AHEH 1:25.5 10-9 37.6|89.4 | 5 406 | EEMFE (EF)
8 7 KW yp== 53.0 (1 1/4) (-6) (%) G1L—>>9
A=W RFPY2—Ib B:HLTALF—X =YL Tp—Lh
4 5 | EREE 1:25.6 14-13 | 36.7 | 88.4 | 14 | 458 |/NEFRER (i)
9 4 X /LA 55.0 (3/4) (-8) () HB4us
Rk v/ kEF BiA—RSLZA et e
; = 4t 5 | FlREX 1:25.8 9-9 37.9| 8.8 | 7 496 | FREE= (ER)
10/8[16| N YT HF LT T~ 5.0 (@/4) o | ® 77> ks
LHIRT4 ISR B:Fy 2 INZ— 55 K
N B3 | BB 1:26.0 3-3 38.6| 85.5 | 10 | 450 |EEE= (&)
EH5 #’3"711’ ST 1T 53.0 (1 1/4) (+4) EE Ll S
L:YZZXE4—3Z24— B:xavIAfMUH— RS
o 4 3 | WA 1:26.4 2-2 39.4| 82.6 | 11 456 | REEE= ()
12/ 5(10 AZXHDT—FX b [B] 53.0 (2 1/2) (-6) KFHREK
LIIVINATA—N— BTFAI—RXH TRE 45
s oS # 5 | ALREE 1:26. 7-5 38.8| 82.2 | 15 514 | MEE (EH)
130714 71E27 5.0 (7€) Ga) | B G1L-vry
L:r07x B:IA4JLy b J=HrTr—L
s ke s 3 | dtRkR— 1:27.0 6-5 39.4| 77.6 | 8 462 | NBI%Z (i)
14 1Y%= R4 >R 53.0 (3 1/2) (44) | SERE
Rk v/ kEF BXM—LTILR HET7— L
S . # 5 | C. #F/Ea 1:27.2 3-8 39.5| 76.1 | 4 506 | R (EH)
1 > FIRERRESA &S 55.0 (1 1/4) (+10) |FA=HE
L:ZATATv— B:Y—FTN—+ (B) A3 -FRL—->a>@aEI7
= 4t 3 | HREESR - 12-16 - | - 9 488 | FEREZ (E)
x| 815 FINRIT A b 53.0 (k) (-2) AY Iy IL=22T
RL:IANZATING B:INTbh—LI ifsye]
@ 71 L
) 49.1-37.2
NA>Z4 L | 12.6-10.9-11.6-11.9-12.1-12.2-12.9
® I —F—@EBIERL
1T=7r=
230—7F—
Gol=5r= (x9,10) (5,3,6)11(1,14)16(7,8)-(13,15)-4,12,2
43—+ — (x9,10)-(5,6) (1,14,11)3(7,8,16)-13-4(2,12) 15
[ N3
BB 8 300M 714K 8-9 310 e E 4-5 470M JEHE 1-8-9 3,510/
8 B 8 140 1-8 810M B = 8-9 630M B 8-9-1 12,120M
9 150 1-9 1,330 | | B & 8-9 1,140
1 260M

ABICOVWTRDTEEERROODE. TR LIV,




